110 FIELD TERMINATED KITS

2 5 5 2 2 5 OR-70300030 RIVET: 12 PER PKG.
1 3 3 9 9 1 3 3 3 3 9 1 OR-70400272| HOLDER/INSERT, DESIGNATION STRIP
3 9 9 3 3 9 OR-30200143 110 DW4-100 BLOCK, WIRING
1 1 1 OR-30200145 110 AW4-100 BLOCK, WIRING
1 1 1 OR-30200007 110 AW4-300 BLOCK, WIRING
OR-30200022 110 DW4-300 BLOCK, WIRING
20 | 60 | 60 | 180 | 36 12 12 4 | OR-30200010] 110C-5BLOCK, CONNECTING, BAGGED
180 | 4 12 | 60 [ 12 | 60 | 36 | 20 |OR-30200009| 110C-4 BLOCK, CONNECTING, BAGGED
28 84 84 252 OR-30200008|] 110C-3 BLOCK, CONNECTING, BAGGED
2 2 2 2 2 2 OR-70100120 WASHER, LOCK #12 EXT.
2 2 2 2 2 2 OR-70100119 SCREW, PH, #12-14 X 5/8
1 1 1 1 1 1 OR-20700021 GROUNDING BAR
2 2 2 2 2 2 OR-70100002 NUT, 10-32
2 2 2 2 2 2 OR-70100129 SCREW, PH, 10-32 X 5/8
1 1 1 1 1 1 OR-71600110 INSTRUCTION SHEET
1 1 1 OR-40200375 PANEL, 300 PAIR
1 1 1 OR-40200377 PANEL, 900 PAIR
3 9 9 3 3 9 OR-30200139 TROUGH, MANAGEMENT
1 1 1 1 1 1 OR-40200384 BOTTOM TRAY
REQ|REQ[REQ|REQ|REQ|REQ|REQ|REQ| REQ|REQ|REQ| REQ PART# DESCRIPTION
O T - S T = - B = S B . ]
~ o < o o < 0 (o] 0 o o g} ) vl |
o o ™ o o (a2} ™ (a2 o o o ™ ANEN A
S|l ool S|lol|lo|l<o|lsc|lelS]|l o]l -as OR' RON’CS
I N N N N N N N N N N N - &/
sisls|s8|g|s8|s|[8|8[8|8]8
v v v o v o o v o v o v 125 Eugene O'Neill Drive
(@) (@) (@) @) @) @) @) @) @) @) @) @) New London, Connecticut 06320
clelolElElElElElE|lElE|L PACKING LIST
‘8 § % CQD, § S § § % § § S 110 PATCH PANEL
& & & & & < & & & & & & FIELD TERMINATED
} } E E m O O m O m O m
o < < < o o o <
eleleleleleleleleleleg]e
T A
BEB TWAcommetom OR-71600110, REV. 07, ECN #01127 12/18/96 SHEET 1 OF 2

http:/Avww. TWAcomm.com
Toll Free: (877) 389-0000 -

_—




ME 110 CROSS—CONNECT

: T Xk ol
ORTRONICS® - .:>.c. 300,/900 PAIR
ASSEMBLY INSTRUCTIONS

fAX: 860—405—2990

¢

PANEL
\l (300 PAIR)

(900 PAIR)

HOLDER/INSERT
DESIGNATION STRIP

LOGK WASHER
(#12 EXT. TOOTH)

// BOTTOM TRAY

SCREW W/ EXT. TOOTH WASHER
(§10-32 x 5/8)

- ~

NUT (#10—32) & GROUNDING, BAR —
old by:
\\\\ (11
( aEa /

CAD: 1\ 71€\001 101
BATE APR.EY: DATE // @ 8 8 TWAcommecom
[ ] http:/Avww. TWAcomm.com

[TNSTRUCTIGN SHEET # [REV. | ECN 7 N.BY DATE CHKBY:
71600110 07 |01127| 2 OF 2 | D. BOGUE (02/18/99 Mg TGO o
///J/cs oll Free: u\.\\\\ -




